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Sample Problems 

8. Find the molar mass of CuSO4∙5H2O 

 Cu (63.5 g/mol) + S (32.1 g/mol) + O (4 x 16.0 g/ml) + H2O (5 x 18.0 g/mol)  

= 249.6 g/mol 

H2O (5 x 18 g/mol) / 249.5 g/mol = 36.1% 

 

9. Find the molar mass of Na2CO3∙10H2O 
 Na (2 x 23.0 g/mol) + C (12.0 g/mol) + O (3 x 16.0 g/ml) + H2O (10 x 18.0 g/mol)  

= 286 g/mol 

H2O (10 x 18.0 g/mol) / 286 g/mol = 62.9% 

This means the anhydrous compound comprises 37.1% of the hydrate. 

5.00 g represents 37.1% of the hydrate; X x 37.1% = 5.00 g 

X = 13.5 g of the hydrate (Na2CO3∙10H2O) 
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